
 Let’s trace A and number 

1. Melon 

2. Banana  

3. Grapes 

4. Lemon 

5. Orange 

6. Cherry  

7. Strawberry  

8. Peach 

9. Apple 

1. I  l i ke / don’t  l i ke  strawberries. 

2. I  l i ke / don’t  l i ke  cherries. 

3. I  l i ke / don’t  l i ke  apples. 

4. I  l i ke / don’t  l i ke  peaches. 

5. I  l i ke / don’t  l i ke  grapes. 

6. I  l i ke / don’t  l i ke  oranges. 

7. I  l i ke / don’t  l i ke  melons. 

8. I  l i ke / don’t  l i ke  bananas. 

9. I  l i ke / don’t  l i ke  lemons. 

 

Let’s trace A  and circle 
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